o

SurieRapi

_Venta de Refacciones

«stribuidor Autoriz

Electrodomesticas




D'\str‘\buidor Autoriz; do

-
SurieRap Hit©

Venta de Refacciones
Electrodomesticas

RUDOBOOEB CONTROL PANEL

1 [965482 PANEL, CONTROL (S/P)

2 965483 INSERT, CONTROL PANEL (S/P)
3 |965484 TIMER (S/P)

4 14314961 SWITCH, ROCKER (S/P)

5 |965485 SCREW, TIMER (S/P)

6 |965486 KNOB, TIMER (S/P)

7 8193950 SHIELD, TIMER _ (S/P)




D'\stribuidor Autoriz; do

RUDOBOOEB DOOR

}6

[Y]
|

)

sureRapide

- Venta de Refacciones

Electrodomesticas




o)

SurieRap

Venta de Refacciones
h Electrodomesticas

stribuidor Autoriz do

1 [8193950 LATCH ASSEMBLY _ (S/P)

2 965488 SCREW, 8 X5/8 (S/P)

3 |965505 COVER, VENT _(S/P)

4 |965506 SCREW, VENT COVER _ (S/P)

5 |965507 GASKET, VENT COVER _ (S/P)

6 |965562 HANDLE, DOOR  (S/P)

9 4340701 SCREW, 8 X 3/8 (S/P)

11 | 965489 ARM ASSEMBLY (R.H. & L.H.) (S/P)
13 965490 SEAL, BAFFLE (S/P)

14 |965491 DESCONTINUADO

15 | 965492 NUT, ARM ASSEMBLY _ (S/P)

16 | 4340440 SCREW, 8A (S/P)

18 | 965493 SPRING, DOOR _ (S/P)

19 |965494 SCREW, ARM ASSEMBLY _ (S/P)

20 965181 DESCONTINUADO

21 | 965495 SPEEDNUT, BAFFLE (S/P)

23 | 965496 HARNESS, WIRING _ (S/P)

24 |965497 PANEL, DOOR  (S/P)

25 | 965459 TRIM, SIDE DOOR _ (S/P)

27 1965498 INSERT, ACCESS PANEL (WHITE & CLEAR) (S/P)
28 | 965561 INSERT, DOOR PANEL (WHITE & CLEAR) (S/P)
29 |965500 TRIM, ACCESS PANEL - LH. (S/P)
30 |965501 TRIM, DOOR BOTTOM _ (S/P)

31 |965413 TRIM, ACCESS PANEL BOTTOM _(S/P)
32 ] 965559 TRIM, ACCESS PANEL - R.H. (S/P)
33 ]965502 PANEL, ACCESS (S/P)

37 1965339 TRIM, ACCESS PANEL TOP _ (S/P)
38 |965503 PLUNGER, DISPENSER _ (S/P)

39 [8194392 DESCONTINUADO

40 4169077 BODY ASSEMBLY  (S/P)

41 [ 965566 BI-METAL ASSEMBLY _ (S/P)

42 4340168 DESCONTINUADO

42 965499 PANEL, DOOR & ACCESS _ (S/P)

RUDOBOOEB DOOR




D.\&.;«uguidor Autoriz

SurieRapi

_Venta de Refacciones
Electrodomesticas




D'\str‘\buidor Autoriz; do

SurieRapi

Venta de Refacciones
A Electrodomesticas

RUDO8SOOEB TUB

1 [8193834 STRIKE, DOOR _(S/P)

3 965406 DESCONTINUADO

6 965477 SCREW, 10-10 X 9/16 (S/P)

10 | 965526 ROLLER, TUB (S/P)

11 | 965527 SCREW, ROLLER (INCLUDES ITEM 8) (S/P)
13 | 965528 FLOAT (SIP)

15 8194169 TUB & GASKET ASSEMBLY (INCLUDES ITEM 25) (S/P)
25 | 965530 GASKET, TUB _(S/P)

31 |965533 INLET, WATER (S/P)

33 965531 TUBING, INLET (INCLUDES ITEM 34) (S/P)
34 965532 CLAMP (2) (SIP)




- S 2
i 4 g, RUDOSOOEB DISHRACK
.Ul

Venta de Refacciones

N

D'\str‘\bwdor Autoriz do
Electrodomesticas

SurieR




o)

SurieRapi

Ventade

stribuidor Autoriz do

Refacciones
Electrodomesticas

RUDO8SOOEB DISHRACK

1 [965550 DISHRACK, LOWER (INCLUDES ITEM 7) (S/P)
2 965551 BASKET, SILVERWARE _ (S/P)

3 |965552 DISHRACK, UPPER (INCLUDES ITEM 4) (S/P)
4 ]965553 WHEEL ASSEMBLY, UPPER RACK (4) (S/P)
5 |965554 END CAP, SLIDE (4) (SIP)

6 |965555 SLIDE, RACK (2) (S/P)

7 | 965556 WHEEL ASSEMBLY, LOWER RACK (4) (S/P)




D.\&.;«uguidor Autoriz

SurieRapi

_Venta de Refacciones




D'\stribuidor Autoriz; do

SurieRapi

Venta de Refacciones
h Electrodomesticas

RUDOBOOEB FRAME

1 [965337 POWER CORD (OPTIONAL) (S/P)
2 965518 TOEPLATE, ADJUSTABLE (S/P)
3 965520 SWITCH, FLOAT (S/P)

4 965510 SCREW, 10-32 X 3/8  (S/P)

5 |965511 TOEPLATE (S/P)

6 |965521 BRACKET, FLOAT SWITCH (S/P)
7 965522 SCREW, 10 X 5/8 (S/P)

8 965477 SCREW, 10-10 X 9/16 (S/P)

10 |4340129 SCREW, RELAY (S/P)

12 | 965465 RELAY, MOTOR (S/P)

13 [4340701 SCREW, 8A X 3/8 (SIP)

21 [8194285 VALVE, INLET (S/P)

22 965513 LEVELERS (4) (S/P)

26 | 965514 FRAME, REAR (S/P)

27 965519 BRACE, FRONT (S/P)

30 | 965515 COVER, JUNCTION BOX (S/P)
31 | 965516 BRACKET, JUNCTION BOX (S/P)
32 965517 FRAME ASSY., FRONT (S/P)




Smbwdor Autoriz d

Surtenﬂ

- Ventade Refaomones
Electrodomesticas

= g w’
M

RUDO8BOOEB PUMP




D'\stribuidor Autoriz; do

SurieRapi

Venta de Refacciones
h Electrodomesticas

RUDO8BOOEB PUMP

1 [4340235 DESCONTINUADO

2 965547 PLATE, STRAINER (S/P)

3 |965534 HEATER (S/P)

4 |965384 DESCONTINUADO

5 |965385 SPACER PLATE (S/P)

6 | 965390 DESCONTINUADO

7 4340510 DESCONTINUADO

8 |4340487 DESCONTINUADO

9 |4340254 DESCONTINUADO

10 | 965396 DESCONTINUADO

11 |4340106 DESCONTINUADO

12 | 965535 GASKET, PUMP _ (S/P)

13 | 965536 SCREW, PUMP HOUSING _ (S/P)
14 | 965537 HOUSING, PUMP _ (S/P)

15 | 965538 CLAMP, PUMP _ (S/P)

16 | 4340897 WATERSHIELD ASSEMBLY _ (S/P)
17 | 965418 DESCONTINUADO

18 | 965564 MOTOR ASSEMBLY  (S/P)

19 [4340107 TOOL, SEAL INSTALLATION _ (S/P)
21 | 965540 CLAMP, HOSE  (S/P)

23 ]965541 WASHER, INSULATING _ (S/P)
24 |965542 NUT, HEATER (S/P)

25 | 965548 NUT, SPRAY ARM _ (S/P)

26 | 965549 BRACKET, HEATER (S/P)

27 ]965543 SCREW, MOTOR MOUNTING  (S/P)
28 | 965544 DIFFUSER  (S/P)

36 | 965545 SPRAYARM, LOWER  (S/P)

37 965577 BASE, TOWER (S/P)

38 | 965463 DESCONTINUADO

39 | 965546 TIP, TOWER _ (S/P)




D\stﬁbuidor AutOr do
s“mnap' | "f’é RUDOSOOEB DETERGENT CUP
bl

_Venta de Refacciones
Electrodomesticas




D-\5“',buidor Autoriz do

-3
SurieRap Mt

Venta de Refacciones
Electrodomesticas

RUDOBOOEB DETERGENT CUP

1 [965446 PIN, SPIRAL (S/P)

2 965473 CAM (S/P)

3 1965201 DESCONTINUADO

4 1965202 DESCONTINUADO

5 |965509 SCREW (S/P)

6 965430 BI-METAL ASSEMBLY _ (S/P)
7 965474 LID, DISPENSER  (S/P)

8 |965475 “O RING (SIP)




